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DWC Events for SON - Locations and Divergence Anomalies

Moderate
num_cases in box = 72
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500.000 hPa; min/max wind = 0.03/9.1 m/s; n =72

-120 -110 -100 - -80 -70
O SASNNAANNNANNANN TN T T/ N
AT O O S UE R NN 'l..\

T — Lo e e NN \\ T

N Y (R TS\ '\'\\, l

/. e . PPN S

w727 s LTS ’,_K\\\ \\ﬁ— ////

AV ASEEASYRNY VFRESSNN “ ]

e sNaaaT ///"“\\ XS 7%
:Ill:,’A‘IIII///// ‘\‘\\\\ \\
Wi v 7ty v 250 RN 2%
IR v //,,._._\‘\ ]
NN R PP .,,‘._._\\\\l“ ‘Y\N\._.,‘,/‘//
R i P N N DR e
JESERAE NS P s = NN S ]
5550 000 ARG SN AN i
- e 4 ASBPDI
| ae— e, Vo D e = S S SN ANAN ~A~—
L eae—e——r—— - P ~ v v v s s A ANR Y
/Mg\“‘—"//f/ - 7

|~

A A
e

14

ov

SE

[\

o4

0c

I il R PEPER D N\ OISR ) N vt

P T T L PSP < [ AY . LA - =
ARDDNREIIIE She o S e SIS
- -120 -110 -100 -90 -80 -70
E | | [ [ e
-20 -15 -10 -05 -01 00 01 05 10 15 20

850.000 hPa; min/max wind = 0.02/4.0 m/s; n =72
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Strong

num_cases in box = 2
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500.000 hPa; min/max wind = 0.18/14.0 m/s; n =2
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850.000 hPa; min/max wind = 0.15/13.9 m/s; n =2
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region=boxS limits=[27,-97,,32,-77], years=[2014,2017]

divergence (10e-5/s) anom comp (filled), geopotential event comp (line) and wind anom comp (arrows)



